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GCSE Mathematics
Practice Tests: Set 1

Paper 1F (Non-calculator)
Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser.

Instructions

Use black ink or ball-point pen.
Fill in the boxes at the top of this page with your name,
centre number and candidate number.
o Answer all questions.
s Answer the questions in the spaces provided
— there may he more space than you need.
¢ Calculators must not be used.
» Diagrams are NOT accurately drawn, unless otherwise indicated.
+ You must show all your working out.

Information

» The total mark for this paper is 80
s The marks for each question are shown in brackets
— use this as a guide as to how much time fo spend on each question.

Advice

¢ Read each question carefully before you start to answer it.
+ Keep an eye on the time.

s Try to answer every guestion.

« Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

Write these numbers in order of size.

c:::r'do,n.r\‘s} lx\j-efj S
Start with the smallest number.

6 =3 9 -5 4
""Sh; _gf Lt.! 6 / q
(Total 1 mark)
2. Change 430 centimetres into metres. Cm:-@"'\l"a Metyi' ¢ Unaks
160cm = |
TR e H:2 . metres
Uz = H3m (Total 1 mark)
=)
—reis
Change 0.3 into a fraction. C—CW\V\QJ”'\'W:CE o
U.E 3
3 e
0.3 = eSS = - R —— Q..
(Total 1 mark)
Change 0.7 into a percentage. C‘”‘W"’“‘f) FoP
=i
Wik

O-F = FeathsS = = = 3I°

(Total 1 mark)
Lo
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Diagram NOT
accurately drawn

A
Lol
S
I
=
v

4+— l6em ————+4— OGem —»

Here is a picture of a stick.
The stick is in three parts, A, B and C.

The total length of the stick is 30 cm.
The length of part A is 16 cm.
The length of part B is 9 cm.

Work out the length of part C.

Totas = ZCm 2em = 16emtT Qem + C
AOom T 2Stm +C
[<2%) Scm = C
S
........................................ cm
(Total 2 marks)
6.  Jessica thinks of ber. = . ]
€581ca nKs o anum=e;~ ,[—-Dfrpu_yj EWahG\g

She multiplies the number by 3. 3L
She then subtracts 7. 2= 7
Her answer is 5.

What number did Jessica think of?

3T-3+=§
(+3) | 3% =17
(_:_3) 7 =

(Total 2 marks)
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The total cost of these 2 pens is 60p.

Work out the total cost of 5 of these pens.

Give your answer in pounds.

2 RS
{723

(xs)

2LRenS = &op
5 pens = £l O

Unddany M edtea]

(Total 3 marks)
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lnderpretng Bowr Charts

8.  Ann works in a sandwich shop.

The dual bar chart shows information about the sandwiches sold.

12 Key:
i b= : AP White
bread
8 . i
Brown
Frequency 6 |— o e - bieae
4
2 W - S "
0
Ham Ego Cheese
Sandwich
(a) Write down the total number of cheese sandwiches sold.
Cheese = 646 =12 2 .
s (1)
More white bread sandwiches were sold than brown bread sandwiches.
(b) Work out how many more white bread sandwiches.
whle breod: | L+ 11+ 6 = 2%
loroum boread’ | 1o+ 3+ & = G
Diffwane: | 28 —1@ = & .
(2)

(Total 3 marks)
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10.

S‘W;!FLQ- Prd:c.b.\.&:j

James has 9 cards.
Each card has a shape drawn on it.
Each shape is a circle or a square or a triangle.

O B

L] A\

O L]

James takes a card at random.

1) Which shape is most likely to be on the card?
@ P y Spare

(ii) What is the probability that James takes a card that has a square on it?

Souul'ﬁfqu :% .................. T ............

(Total 3 marks)

David is going to buy a cooker. % C";Y'GL"‘- Armaunt / (P—QF’CQJ.)\Oﬂ-Q Taeose

The cooker has a price of £320.
David pays a deposit of 15% of the price of the cooker.

How much money does David pay as a deposit?

£320 = 1007s &
(x10)| £d2 = 1©% &
(:2) | 2l = S

1e57+S 7 L2324 E16=1£%,

fug = 15%
¢ L&
e BeeeSRes
(Total 2 marks)
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11. (a) Solve x+3=12

(Dlx =4
.
1
(b) Solve %:10
e SO
(1)

(Total 2 marks)
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12. Here is a menu in a café.

Menu
Starter Main Course
Soup Chicken
Melon Fish
Omelette
A meal is a starter and a main course.
One possible meal is Soup and Chicken, (S, C).
Charlie wants to choose a meal.
(a) Make a list of all the different meals she can have.
One has been done for you.
RO & TR N 1) W (LX) N €75 - WA TX2) N
2)
A meal is chosen at random.
(b) What is the probability that the meal will be Melon and Chicken?
ALY
te
Jeut of 6
-
..................... S ..
1)
The café adds fruit juice as another starter.
Charlie says ‘Now there will be one more meal to choose from’.
(c) Show that Charlie is wrong.
.................. MW%‘C/\&%@:C)!CJ:?)WC‘
L) TS IS 300 MaeIS : e
1)
(Total 4 marks)
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13. The diagram shows a rectangle and a square.

R cm

Diagram NOT
accurately drawn

2 em

The perimeter of the rectangle is the same as the perimeter of the square.

Work out the length of one side of the square.

Rnmalas = Perinater et Pt 2enct Tom = 4+ XAXALT
(Recrogle) (Squoe)

cellock 20cm. = L'l--'JC_

(L) Seee = &

(Total 4 marks)
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14. (a) Write 8 45 p.m. as a 24-hour clock time.

Seeta did a puzzle in 3 minutes 45 seconds.
Ninal did the same puzzle in 7 minutes 28 seconds.

Seeta says,

‘I did the puzzle in less than half the time Ninal did the puzzle.’
(b) Is Seeta right?

You must show all your working.

Sexter : Zmowdked LS seconds
(\Q:} émwxbés A0 SeCONAS e— T maval KO sense
Ioudl =60 decarddS | ' Jemnawakes 30 Secand S
ConclusS i

Secta iS wesm G swce. s dowdac T
{S greades Haon Nuaods hwé.

3)
(Total 4 marks)

15. Work out —3~ + —1-

oo

Addung Fockons
Give your answer in its simplest form.

LempUond €= =

~)

?
- T R T
g r¥Eds§ ¢
i _ b d bk =
= & = b g 8
“ & s
(Total 2 marks)
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16. Write these numbers in order of size.
Start with the smallest number.

0.6 2 65% 0.606
3
Convert 06 o066 065 0-606

order .6 ©®.6066 O0-65 C-666

(Total 2 marks)
17. One kilogram of cheese costs £5.60. . Y Sas
Jane buys 200 g of cheese. DEQW O‘U‘& i
Work out how much Jane pays.
ks heq = 4 E.é6
I A

(i) 'ZCZCB':%_L__[_L s|s-60

(Total 3 marks)
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18. Mr Brown and his 2 children are going to London by train.

An adult ticket costs £24.
A child ticket costs £12.

Mr Brown has a Family Railcard.

Family Railcard gives
%off adult tickets

60% off child tickets

Work out the total cost of the tickets when Mr Brown uses his Family Railcard.

\ adulk Heler

| =
30‘?- 22 L -fi?

2 Cllal hawexs

=)

(«e)

Tota Pfl'CQ_

424 out & o
£2u-£% =6

0 w212 = R louk 60°/o F .

L2 = 100%
£280= 10°%/, 2.0 %
1wl = 60°%b0 =
£2u-£Eheuo =£9.60 IL: o
L6+ 29.60= 2 25-60
A -
(Total 4 marks)
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19. Work out 4.52 % 36

\

|

———

X

|

= 4S2 x36

Decumod Mulbel cahan

(Total 3 marks)
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5:31-1’?_

ps 2 l—'zl_.\ IO K ,2 X =0 y=3eeH? =2

i x= =D)L =8
ST =

20. On the grid, draw the graph of y = 3x + 2 for values of x from -2 to 2.

e = e 0 S S
=y = pv > = x|
] _—_—

(Total 4 marks)
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(@) Translate shape P by the vector ( 5). S gt
—2 2 ok g,

2
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(Total 5 marks)

(x+2)° Sfmﬂﬁ-](;uj %Cb(me ﬁ({)«“@ﬁg Lo

I
- ,

9\t OCH
' (3“1), = e

(a) Simplify

S X+ (1)

(b) Simplify 2a°b * 3a’h
T Lxaxavxhk x3xafexay b

(Total 3 marks)
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23.  Talil is going to make some concrete mix.
He needs to mix cement, sand and gravel in the ratio 1 : 3 : 5 by weight.

Talil wants to make 180 kg of concrete mix.
Talil has

15 kg of cement
85 kg of sand
100 kg of gravel

Does Talil have enough cement, sand and gravel to make the concrete mix?

Totc\ Pares 1+2+5= Qpats = (30wq
(@) | Pat = dolkq

cC:S' G = [EATS

(x20) | o060 lcO

NEEDS HAS
260 |00 IS: €800
Concls Len He ctoes rot have @ Aough camend , NO

(Total 4 marks)

24.  The height, H cm, of a table is measured as 72 cm correct to the nearest centimetre. G(bf ly\),-efuo.LS

Complete the following statement to show the range of possible values of A.

< |1T2=0'S

(Total 2 marks)
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25.

lnterprexing Roal Life Cragns

Bill uses his van to deliver parcels.

For each parcel Bill delivers there is a fixed charge plus £1.00 for each mile.

You can use the graph to

F 3

80

70

Cost (£}

find the total cost of having a parcel delivered by Bill.

w

30

20

L

Dhstance (miles)

(a) How much is the fixed charge?

Ed uses a van to deliver parcels.
For each parcel Ed delivers it costs £1.50 for each mile.

There is no fixed charge.

(b) Compare the cost of
delivered by Ed.

Draw Ed bure-

—

(¢1o)
(x3)

CarcdusSan

Practice test paper 1F (Set 1): Version

having a parcel delivered by Bill with the cost of having a parcel

o £ = Omlas
21.50= lnule
£ = lOmilas
tus = 20mdas
3)

ks C.k_a_ap-ef ko ‘N&.\re_ PC!CDJS (Total 4 marks)

—%&p@@.@l—%_ﬁw——
Porcels 22 mias vy, Akes fnou-

Rul 1s e chaapes Chatca
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9. Sasha carried out a survey oft 60 students.
She asked them how many CDs they each have.

Alf\eﬂﬂj €5 Frem «Ym[u_d

This table shows information about the numbers of CDs these students have.

i’bJ//U‘Qﬂfﬁ

Number of CDs 0—4 5-9 10— 14 15-19 20-24

Frequency 8 11 9 L+ 18

o § = = 2E w2 60O

(a) Write down the class interval Lcmlmnmg the median. ( 1a
\5 -

VN Te G R

R ™

O ¥o3 Studeant
=> Shncloats 29 - 2L ok 1N I5-A d\ms

s

'1S lq

(b) On the grid. draw a frequency pol) gon to show the information given in the table,

X Frequanes PoL‘Q jc«
, el L
20 f | ! N
o NS | |
1 i |t l
Freguency T ) B ’/ - |
(0 /,/X e // ;
p 0y | |
) T \éf' """" i
i T i |
i A 7] . 7Lﬁ — - SESLE S
S S—— . ]
L ] |
__________ - e ‘
0 i & I I T
0 5 10 15 20 25
Numbher ol CDs
(2)

(Total 3 marks)
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Speed Distane Tune

13.  The distance from Fulbeck to Ganby is 10 miles.

The distance from Ganby to Horton is 18 miles.
-

i 10 wiles ; 18 miles

! I
Fulbeck Ganby Horton

Raksha is going to drive from Fulbeck to Ganby.
Then she will drive from Ganby to Horton.

Raksha leaves Fulbeck at 10 00.
She drives from Fulbeck to Ganby at an average speed of 40mph.

Raksha wants to get to Horton at 10 35.

Work out the average speed Raksha must drive at from Ganby to Horton.

e Lrage ) Towraey =
= = Oy B T @)
D = Omea D = 19wles
T = 2 (D) 2\ Thanues T = 20mimies @

e . - ¥ ¥ il Ay
® T= & @ T = 35 - 1Tas = H0moudes
T = 1Owmcles >
-y =
4o (VU(W\ @ =

=

2
kE

i
{Ch
=
ig:_

& - -
- %Ws

= S mukes

(Total 3 marks)
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29. (a) Write down the value of 5°
o

azl l

1)
(b) Write down the value of 2
! -\ \
. LS. s
=g~ |t =T =2 ..
)

(Total 2 marks)

TOTAL FOR PAPER IS 80 MARKS
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